	[image: image30.png]cbseﬁguess




	http://www.cbseguess.com/



Guess Paper- 2010
Class- X
Subject – Mathematics 

(BASED ON APPLICATIONS OF TRIGONOMETRY AND SURFACE AREA AND VOLUME)
1. An electric pole is 10m high. If its shadow is
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in length, find the elevation of the sun.
2.  A river is 60m wide. A tree of unknown height is on one bank. The angle of elevation of the top of the tree from the point exactly opposite to the foot of the tree, on the other bank is
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. Find the height of the tree.

3. A statue, 1.6m tall stands on the top of a pedestal. From a point on the ground, the angle of elevation of the top of the statue is 
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and from the same point the angle of elevation of the top of the pedestal is 
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. Find the height of the pedestal.
4. As observed from the top of 75m high lighthouse from the sea level., the angles of depression of two ships on the same side exactly behind the other are 
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. Find the distance between the two ships.
5. From the base of a 30m tall building, the angle of elevation of the tower
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, and from the top of the building, it is
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. Find the height of the tower and the distance between the foot of the tower and the building.
6. The angle of elevation of a cloud from a point 60m above the lake is 
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and the angle of depression of its reflection in the lake is
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. Find the height of the cloud..

7. The angle of elevation of the top of a tower from a point on the same level as the foot of the tower is
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. On advancing 150m towards the foot of the tower, the angle of elevation becomes
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. Find the height of the tower.

8. There are two poles on the opposite banks of a river, just opposite to each other. One pole is 60m high. From the top of this pole, the angles of depression of the top and the foot of the other pole are 
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and
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respectively. Find the width of the river and the height of the other pole.

9. A person standing on the bank of the river observes that the angle of elevation of the top of the tree standing on the opposite bank is
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. When he moves 40m away from the bank, he find the angle of elevation to be 
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. Find the height of the tree and the width of the river.

10. The angle of elevation of a jet fighter from a point A on the ground is
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 . After a flight of 15 seconds, the angle of elevation changes to
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. If the jet is flying at a speed of 720km/hr, find the constant height at which the jet is flying.
11. The angle of elevation of a jet fighter from a point A on the ground is
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. After a flight of 10 seconds, the angle of elevation changes to
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. If the jet is flying at a speed of 432km/hr, find the constant height at which the jet is flying.
12. The angle of elevation of a jet plane from a point on the ground is
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. After a flight of 15 seconds, the angle of elevation changes to
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. If the jet-plane is flying at a constant height of
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1500

, find the speed of the jet-plane in km/hour.
13. A cylinder, a cone and a hemisphere are of equal base and have the same height. What is the ratio of their volumes?

14. The interior of a building is in the form of a right circular cylinder of radius 7m and height 6m, surmounted by a right circular cone of same radius and of vertical angle
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. Find the cost of painting the building from inside at the rate of Rs30 per sq.m.

15. A gulab jamun when ready for eating, contains sugar syrup of about 30% of its volume. Find the approximately how much syrup would be found in 45 such gulab jamuns, each shaped like a cylinder with two hemispherical ends, if the complete length of each of them is 5cm and its diameter is 2.8cm.
16. If the volume of a cylinder of height 7cm is
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, find its lateral surface area and total surface area.
17. A container shaped like a right circular cylinder having diameter 12cm and height 15cm is full of ice cream. This ice cream is to be filled into cones of height 12cm and diameter 6cm, having a hemispherical shape on the top. Find the number of such cones which can be filled with ice-cream.

18. An iron pillar has lower part in the form of a right circular cylinder and the upper part in the form of a right circular cone. The radius of the base of each of the cone and the cylinder is 8cm. The cylindrical part is 240cm high and the conical part is 36cm high. Find the weight of the pillar if
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of iron weighs 7.5 grams.
19. A solid iron pole consists of a cylinder of height 220cm and base diameter 24cm, which is surmounted by another cylinder of height 60cm and radius 8cm. Find the mass of the pole, given that 
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of iron has approximately 8g mass.
20. A tent is in the shape of a cylinder surmounted by a conical top.  If the height and the diameter of the cylinder part are 2.1m and 4m respectively, and the slant height of the top is 2.8m, find the area of the canvas used for making the tent. Also, find the cost of the canvas of the tent at the rate of Rs
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21. From a solid cylinder whose height is 2.4cm and diameter 1.4cm, a conical cavity of same height and same diameter is hollowed out. Find the total surface area of the remaining solid.

22. A vessel is in the form of a hollow hemisphere mounted by a hollow cylinder. The diameter of the hemisphere is 14cm and the total height of the vessel is 13cm. find the inner surface area of the vessel.

23. A right angles triangle, whose sides are 3cm and 4cm, is made to revolve about its hypotenuse. Find the volume and the surface area of the double cone so formed.

24. A hollow copper pipe of inner diameter 6cm and outer diameter 10cm is melted and changed into a solid circular cylinder of the same height as that of the pipe. Find the diameter of the solid cylinder.
25. A hemispherical bowl of internal diameter 30cm is full of liquid. This liquid is to be filled in cylindrical bottles of diameter 5cm and height 6cm. how many bottles are required to empty the bowl?

26. The perimeters of the ends of a frustum of a cone are 36cm and 48cm. if the height of the frustum is 11cm, find its volume.

27. The radii of the ends of frustum of a cone 45cm high are 28cm and 7cm. find the volume, curved surface area and the total surface area.
28. A container (open at top) made up of a metal sheet is in the form of a frustum of a cone of height 16cm with 

29. The height of a cone is 30cm. A small cone is cut off at the top by a plane parallel to its base. If its volume be
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of the volume of the given cone, at what height above the base is the section cut?

30. Marbles of diameter 1.4cm are dropped into a cylindrical beaker of diameter 7cm, containing some water. Find the number of marbles that should be dropped into the beaker so that the level rises by 5.6cm.

31. A tent is in the shape of a cylinder of diameter 4.2m and height 4m, surmounted by a cone of equal base radius and height 2.8m. Find the capacity of the tent and the cost of canvas for making the tent at Rs100 sq.m.

32. Water flows through a circular pipe whose internal diameter is 2cm, at the rate of 80cm/sec into an empty cylindrical tank, the radius of whose base is 40cm. By how much will the level of water rise in the tank in half and hour.
33. A tent consists of a frustum of a cone, surmounted by a cone. If the diameters of the upper and the lower circular ends of the frustum be 14cm and 26cm respectively, the height of the frustum be 8m and the slant height of the surmounted conical portion be 12m, find the area of canvas required to make the tent. (assume that the radii of the upper circular end and the base of the surmounted conical portion are equal)
34. A bucket is in the form of a frustum of a cone whose radii of bottom and top are 7cm and 28cm respectively. If the capacity of the bucket is 21560cm3, find the whole surface area of the bucket.
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